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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document".

L

[ZHML Document]
<Infinished xmlns="urn:xmlmaster: TNFINISHED ™

<List>
<Morker =mlns='urn:=mlmastcer: MOREERY

Noue—"J=LL Woo ko " f -
<horivicy xmlns="urn:xmlmaster:VISITY

Code="O00z "=
<DateTime>2004-07-01 13 :00</DateTime>

<Location xxmlns="urn:xmlmaster : CONTLCTM>

<MNamex>John Smith</Name:>
<Addressr31injuku Ward Tokvo</Lddress:>

</ Locations
<Jokh Proceduse="Install A:r Conditioner”

Time=rars-
LAl US S COMPLETED - S S enL WS
< Aotivitys
<horvivicy x¥xmlns="urn:xmlmaster:VISIT®

Code="O003 -
<DateTime>2004-07-01 16:00</DateTime>

<Location #mlns="urn:xmlmaster : CONTLCTM:
<MName>Een Iiller</Name>
<hddress>3iibuya Ward Tokyo</ Address»

</ Locacions>
<Joh Proceduse="Clean air conditioner™

llme="4"; >
<3tatus>WAITING</Status>

</ Activitys

</ List>
</ Unfinisheds>

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing

result is choice "A", processing may not occur as expected.



[DOM Processing]
Process ZML usiag the folloving method.
prrincEML | doe | ;
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc | o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNewe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster it VISITY, "Aoctivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: ¥xmlwaster :VISITY, "DatceTiwe™) .item(0) ;
System.out..arint (Mot Visited:™):
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (" Worker=" 4 name) :
node = elem.getElement abyTagllamells (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (") !

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)

B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B

QUESTION 2

Push the Exhibit Button to load the referenced "testml.xsd".



[testml. x3d]
<¥3:i=chema
¥mlns:xs="http://wrw.wd.org/ 2001/ IML3chema™ >
LHElelement name="IestiL" CLYpESTLeEdtmlliype™ />
<xs:icomplexType aame="testmlType'>
<H3:3equence:
<xa:element —ef="perason”
maxXlcours="unbounded"™ />
<fxs:i1s3equencex
</®s:icomplexTyper

<xzielement name="person’ type="peraonType’™ o
<xs:complexType aame="personType":=
<X3:Seqguences
<xa:elewment sef="name" />
<us:element zef="phone"™ />
</ %31 8equence>
</wa:complexTyper

<ys:element name="name" type="xs:string"™ />
f<xz:ielement name="phone" type="xs:scring™ S
</ws:ischemasr

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document ("testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalocation attribute.



[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

£ S <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
<uziredefine schemalocation="testml.xsd":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>
fxZiextension base="personType">r
<HS: SEQqUENCER
<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x5 schemas

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C




QUESTION 3
Which of the following correctly explains SOAP (SOAP 1.1) and schema?

A. By including a document type declaration in the SOAP message, you can perform a validation check on the XML
Documentincluded in the SOAP Body element

B. You cannot perform a validation check on the XML Document included in the SOAP Body element

C. An XML Document encoded according to the encoding method (SOAP Encoding) defined under the SOAP 1.1
specification canonly be validated against W3C XML Schema

D. A SOAP message cannot include a DTD; however, other XML coded Schema Documents can be included as a part
of the XML

Correct Answer: D

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document".

[ZML Dozument]
<root>
<data w=mrinr
<data x="1"
“data x=1r1rmr
<date x="1"
</ root>

mErx3</datar
rgre g fdatar
rEMLOL S datas
rErs-1Z < datar

55

Assume that the character "3" is obtained from the "XML document”. Select which XSLT style sheet correctly performs
the transformation. (Multiple answers possible. Select two.)

A.
B.
C.
D.

Correct Answer: BD

QUESTION 5

Push the Exhibit Button to load the referenced "XML Document".



[ZML Document]
<Infinished =zmlns="urn:=zmlmaster: TNFINISHED":>
< Item:
<Mlnrkerr ¥mlna=Turn:*xmlimaster MMOREERT
Natne="Jeff Workman"/ >
<Activity =xmlns="urn:=mlmaster:VISIT"
Code="000z ">
<DateTimex>2004-07-01 13 :00</DateTimex
<Job Procedure="Install sir conditioner™
Time="zZ" >
<3tarus>MAITING</ Statuss
<fAotivitys
= TLems-
< Item:>
<llorker Xmwlns="urn: mwlEster: TOREER™ MNatne="Jim
Worker "/ >
<hetivity Hmlns="urn: xmlmwaster:VISIT"
Code="0003 ">
<DateTime>2004-07-01 16:00</DateTime>
<Job Procedure="Clean air conditioner™
Tite="2"/ >
<3tatuss>WMAITING</Statuss
<fActivitys
</ Items
</Unfinished:

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Assume that the processed XML Document has no indents (ignorable white space such as line feeds, tabs, etc.).

[DOM Procesing]
Create EML using the following method.
Docurent ocutput = createdldl( doeo, impl ) :
The wvariapble doc here references the lUocWnenht 1hstance of the loaded XML Docwnent.

The variasble impl here references the DONImplementation instance.
The DOM parser is namespace awvare.
bssuwne no execution Brrors.

public static Document createXZML( Document doc, DOMInplementation impl 1 4
SJtcing name = "Jim Worker'™,;
Dozument output = impl.createlocument |

Furn: xmlmastcer :LIST™, "List™, null):
El=ment root = output.getlocumentElement () ;

MNodeList nl = doc.getElewentcsEyTagiamelNs ("arn: xmlmsster : WORKEERT, "Worker™) :
for (int i1 = 0; i < nl.getlengthi); i++) {
Element 21 = [Element)nl.item(i) :
if (ml.yeLbiLLribivube [ "Noone="™) .egquels (ame) ) F
Element elem = output.createklementls |
furn: xmlmaster:LIST™, "WisitList™);
root.appendChild{output. importNode1el, true));
Element e = [Element)el.getlextiibling() ;
root.appendChild(oucput. imporciode 122, true)):
¥
E

recurn output:

A. 2004-07-01 16:00 WAITING

B. 2004-07-01 16:00 WAITING



C. C. 2004-07-01 16:00 WAITING

D. D.D. 2004-07-01 16:00 WAITING

Correct Answer: C

QUESTION 6

Which of the following correctly describes the results of normalizing the following XML Document rec element by
Exclusive XML Canonicalization?

[EML Document]

<a:root Xmlns:a="urn:xmlmaster:a>

<hb:rec xmlns:b="urn:=mlmaster:o">
<h:field />

</hirecsr

<farroots

Correct Answer: B

QUESTION 7

Which of the following is incorrect with respect to general characteristics of DOM (Level 2) processing and data binding
tool processing?

A. Data types such as integers and dates cannot be handled by DOM; however, a data binding tool can be used to
handlethe data type

B. A validation against the schema cannot be performed with the DOM; however, a data binding tool can be used to
performa validation against the schema

C. A DOM parser cannot be used to execute a program created to use a different DOM parser; however, a data binding
toolcan be used to execute a program created to use a different data binding tool

D. For a compiled programming language, compared to DOM processing, a data binding tool can detect more element
namemistakes and other programming errors during compiling

Correct Answer: C

QUESTION 8

Push the Exhibit Button to load the referenced "XML Document".



[EML Document]
<List xmlns="urn:=mlmaster:LI3T">
<Date>2004-07-01</Date>
<lWorker Name="Jeff Workman'™
xmlns="urn: xmlmaster : WOREER" /=
<WisitList>
Adotivity xmlns="urn: xmlraster:VISIT™
Code="0001":
<DateTimex2004-07-01 O02:00</DateTinmesr
<Job Proceduse="Install freezer" Time="2" />
<S3tatuss>MAITING=/ Status>
</ letivotyr
</WisitLists>
<fLiats

When processing the "XML Document" according to the method shown by "DOM Processing," which of the following is
the most appropriate expression of the results under XML 1.0? Line feeds and/or indents are not reflected in the results.
Although the expected processing result is choice "D", processing may not occur as expected.

[DOY Processing]
Process ZML using the following method.
Locument output = createXML| doc, imp. |;
The wariahle fdAnm here refrreacers the Tincument inatance nf the Toaded M. Dinmarnent .

The wvariable impl here references the DOOImplenmentation instance.
The DON parser is nammespace avare.
hzzumwe no execution errors.

public static Document createXML( Document doc, DONInplementation impl ) 4
String code = "OOO1'™;

Dooument output = impl.createlocument |
Turn:xmlmaster: FEEPORT™, "Eeport™, null):;
Element root = output.getDocumentElement () ;
Elewment src = [(Elewment) doc.getElementsEyTaghamels |
furn: xm_masater :MOREER™, "lWorker™) .item(0d)]
rcot.appendChildioutput. importMode (sre, true)):

Mecdelist nl = doc.getElemeatsByTaglamells ("urn: xmlmsster : VISITY, "Accivitcy™):
fcr (int i = 0: i < nl.getlength(): i+-) f{

gro = (Elemwent)inl.item(i ;
if (code.equalsisroc.gethztribute ("Code™) ) ) §
Elemment slem = [(Elewenz)output. importiode (sre, trus):
root.appendChild(elem) :
Elenent status = (Element)elem.getilementsEByTaclame |
"Ztatus™) cdicem(0) ;
status.getFirscChild|() .setModeValue ("COMPLETED") ;
break:

¥
B

Ceturn output:
'

A.

B.

C. C.C. COMPLETED

D. D. 2004-07-01 09:00 COMPLETED

Correct Answer: D




QUESTION 9

Use XSLT transformation to create XML according to the schema (portions modified for this question) defined by
TravelXML.

Perform XSLT transformation on the "XML Document" using the following "XSLT Style Sheet". Select which of the
following correctly describes the results of performing a validation check on the post-transformation XML against the
schema ("XML Schema" referenced when the Exhibit Button is pushed).

[EML Document]

<form Xmlns="urn:xmlmastcer ">
<fieldl>Sky Star Hotel</fieldl:>
<TiprldZz</Tirldl>
<fieldir</fieldix

</ forms>

[EZLT 2twyle Sheet]

<xsl:ztylesheet wversion="1.0"
¥mwlns:xsl="http:/ www. wI.ocgf 1999/ X381/ Transform"
*mwlns: fw="urn: xmlmaster”
exclude-result-prefixes="Tfm">

<xsl:template match="7;">
“xsl:element nasme="EBookingWotification™
mlns="http:/svww. xmlns.orc/ 2003/ Trave LEML ">
<xzl:ielement name="liccommodationInfornation’:>

«xzl:elenent name="iccommodationMame ">
<xsli:value—aof select="fm:form/ fn: fiseldl™ />
</fx=zl:element:
£¥sl:1if tesc="fm:form/fm:fielda/cexc () "=
<z liglement name="Chainllames ">
<uzl:ivalus—of select="fm:forn'fm: fisld2™ />
<fxzlielement:
<fusliifr
<xzl:if test="fm:form/fm:fieldld/ cexn () ">
<xsl:ielement name="AccomuodatiorPhoneNunber ™=
<mal:value—-of select="fm:Tforn/fm:Lield3d™ /=
<fwsl'elements
<fusl:ifs

<f/xzl:elementc
zfwsl:elements

<fxsl:templates
</xsl:istylesheet:>

A. The root element (document element) of the post-transformation XML is an empty element, and the post-
transformationXML is not valid against the schema

B. The post-transformation XML does not include the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); therefore, is not valid

C. The post-transformation XML includes all of the required elements defined by the schema (all elements defined
oncethey have appeared, namespace reflected); however, is not valid

D. The post-transformation XML is valid

Correct Answer: D




QUESTION 10

When processing the following "XML Document" according to the method shown by "SAX Processing," which of the
following correctly describes the output results (print method output)?

[EML Document]

<docr<content>East<! [CDATA[ &] ] >West</content»</doc>

[SAX Processing)

Tae the following "ContentHandlerImpl™ class, and parse the XML Document using JAX.

Lzzsume no exXecution errors.

class ContentHandlerImpl extends DefaultHandler |

public void characters(char[] ch, int start, int length) throws S4XException

IJystem.out.print (new 3tring(ch, start, length)):

b
h

A. EastWest

B. EastandWest
C. EastWest

D. East

Correct Answer: B

QUESTION 11

Which of the following is clearly an unnecessary step in procedures to create digital signature via XML-Signature?
A. Prepare a key for signing

B. Normalize the subject of the signature (normalization via Canonical XML, etc.)

C. Remove namespaces in the subject of the signature

D. Calculate a digest of the subject of the signature

Correct Answer: C

QUESTION 12

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format



Correct Answer: C


http://www.tcpdf.org

